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sin 20 = 2sin 6 cos 0 0820 = cos” 0 —sin® 0 = 1 — 2sin* 0 = 2cos” 0 — 1
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sinAcosB = §[sm(A + B) +sin(A—B)] = 3 sin(A+ B) + 3 sin(A — B)
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cosAcos B = i[cos(A + B)+cos(A—B)] = 5 cos(A+ B) + 5 cos(A — B)
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sinAsinB = i[cos(A — B) —cos(A+ B)] = 5 cos(A— B) — 5 cos(A + B)
sin(—0) = —sin 6 cos(—0) = cos
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. 1\" 1\" . n
Jm (1+2) = () =e lig (1) = ¢
%Am [f(zo) +2f(z1) +2f(z2) + 2f(23) + -+ - + 2f(2n-1) + f(zn)]
%Aw [f(zo) +4f(z1) +2f(z2) + 4f(23) + -+ 2f(xn—2) + 4f(Tn-1) + f(2n)]
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x =rcosf r? = +¢?
y =rsinf
tanf = y
dy rcosf +r'sind 71 2 71 2 2
dr ~ —rsind+ 1 cosf 5[7’(9)} 0 2 ([To(e)] ~ [(6)] ) a6
— [sinflx] = ! — [secfl x] = L — [tanf1 x]
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%[cos lz]:m %[CSC lz]:m 7 %[cot 11:]
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a[a ]=Ina-a pi [log, x] e /a de = na



